Front Caster and Forks

Fork for 9" Wheel

8" Semi-Pneumatic
Wheel

8" Full-Pneumatic

Wheel




Front Caster and Forks

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 1001843 Cap, Head Tube, Black 1 1
1 1131189 Package, Head Tube Cap 10 1
2 1025734 Locknut (7/16-20) 1 1
3 40014X044-NLA | NLA - Washer, Nylon (7/16 x 1 x 1/8") 1 1
4 1006049 Bearing (7/16") 1 1
5 57768X030-NLA | NLA - Sleeve, Aluminum 1 1
6 1029703-NLA | NLA - Bottom Sleeve w/ Bearing 1 1
7 1025730 Locknut (5/16-24) 1 1
8 C 1016289 Washer, Caplugs (15/32" 1.D. x 1-3/32" O.D.) 1 1
8 B 1028491-NLA | NLA - Washer, Caplugs (11/32" I.D. x 1" O.D.) 1 1
9 AC 1016032 Washer, Steel (15/32 x 5/8 x 3/64") 1 2
9 A.B 1027794-NLA | NLA - Washer, Flat (41/64 x 7/8 x 3/32") 1 2
10 C 1025726 Screw, Hex Head (7/16-20 x 3-1/4") 1 1
10 B 1027795-NLA | NLA - Axle, Hex Head (5/16-24 x 4") 1 1
11 B 1027712-NLA | NLA - Reducer, Axle 1 1
12 See Chart #12 Caster Forks 1 1
13 See Chart #13 Caster Wheels 1 1
14 1013466 Hub with Bearings Assembly 1 4
15 1024426-NLA | NLA - Nut, Hex (5/16-24) 1 4
16 1024442-NLA | NLA - Washer, Lock (5/16 x 9/16 x 1/16") 1 1
17 1025399-NLA | NLA - Kit, Rim, Outer/Inner Half w/ Hardware (9") 1 1
18 1028669-NLA | NLA - Boot, Fork, Shock Absorbing 1 1
19 1028490-NLA | NLA - Cap, Hub, Grey 1 1
19 1028488-NLA | NLA - Cap, Hub, Teal 1 1
19 1028489-NLA | NLA - Hub Cap, Lavender 1 1
19 D 1028835-NLA | NLA - Cap, Hub, Black 1 1
20 1015610 Bearing with Grip Ring (5/8") 1 1
NOTE: A - Used with Accent Hub Caps
B - For 9" Wheel
C - For 8" Wheel
D - For the Red Accent Package

ltem #12 Caster Forks

Description

Black Finish

Chrome Finish

Color Finish

Ranger Fork

1029705-NLA
See Note(s) A

N/A

N/A

Shock Absorbing Fork for 8"

Wheel

1040339-NLA

04540X251-NLA
See Note(s) B

8881040340-NLA

Fork for 9" Wheel

1040337-NLA

N/A

8881040338-NLA

NOTE:

A - Standard on Ranger

B - Chrome forks do not come with fork boot, they must be ordered separately.

ltem #13 Caster Wheels




Front Caster and Forks
ltem #13 Caster Wheels

8 x 1-3/4" Wheel,

8 x 2" Wheel, Full

9x2-3/4" Wheel,

9x2-3/4" Wheel,

Description 8 x 1-3/4" Wheel,
Semi-Pneumatic | Semi-Pneumatic Pneumatic Full Pneumatic |w/Flat Free Insert
Wheel w/Bearings Before 1071666
X N/A N/A N/A
Pair 6/9/97 See Note(s) B
Wheel w/Bearings| ;546058-NLA 1070811 1002002 1025400-NLA | 1029871-NLA
Piece See Note(s) B
Rep'?‘i’r‘;me”t N/A N/A 40176X034 1027418-NLA | 1028896-NLA
Replacement N/A N/A 1034942 1027417 N/A
Tube See Note(s) A
Hup 1006049 1006049 1006049 N/A N/A
Bearing
Hub Spacer 1020592 1020592 1020592 N/A N/A

NOTE:

A - Tire comes with insert molded inside.
B - For chairs manufactured before 6/9/97, order the replacement number 1071666.




